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. Find the zeroes of the quadratic polynomial 63* — 3 — 7x

. If one zero of the polynomial (a* + 9x* + 13x + 6q is

. Find a quadratic polynomial whose zeroes are 1 and —3.
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and verify the relationship between the zeroes and the
coefficients of the polynomial. [Delhi 2008] |

Find the quadratic polynomial sum of whose zeroes is 8 |
and their product is 12. Hence, find the zeroes of
polynomial. [Al 2008]

reciprocal of the other. Find the value of a. [Al 200%]
If the product of zeroes of the polynomial ax* — 6x — 6 is
4. Find the value of a. [AT 2008]
Find all the zeroes of the polynomial x* + x* — 34x? — 4x
+ 120, if two of its zeroes are 2 and -2. [Foreign 2008]
Find all the zeroes of the polynomial 2x* + 7x* — 19x?
— 14x + 30, if two of its zeroes are 2 and —2.
[Foreign 2008]

Verify the relation between the coefficients and zeroes of
polynomial. [Delhi 2008 C]

on dividing f(x) by g(x) where
fx) =6+ 13x>+ x— 2 and g(x) = 2x + 1
[AI 2008 C]
1¢. If the polynomial 6x* + 8x* + 17x* + 21x + 7 is divided
by another polynomial 3x* + 4x + 1, the remainder comes
out to be (ax + b), find a and b. [Delhi 20091
11. Find all the zeroes of the polynomial 2x* +x* — 6x— 3, if two

of its zeroes are —/3 and /3. [Al 2009]

12. For what value of k, is 3 a zero of the polynomial

22 +x+k? [A 2010]

13. If —-1 and 2 are two zeroes of the polynomial

2x* — x* — 5x — 2, find its third zero.  [Foreign 2010]

14. Divide x* - 3x? + 4x + 5 by x>~ x + 1, find quotient and

remainder. [CBSE (CCE) 2011]

i5. If 2 and -3 are the zeroes of the quadratic polynomial
x>+ (a + 1) x + b; then find the values of a.

[CBSE (CCE) 2011]

16. It being given that 1 is one of the zeroes of the polynomial

7x — x* — 6. Find its other zeroes. [CBSE (CCE) 2011]

¥ ljjllld e ZZ:?ES of Xhe eadstic pD]).(,no?nf‘l 17. IfAhe zeroes of the polynomial x* + px + g are double in
3x' - 8x + 43 [AT 2008 C] value to the zeroes of 2x* — 5x — 3, find the value of p .
9. Using division algorithm, find the quotient and remainder and g.

{CBSE (CCE) 2012]

Find the zeroes of fellowing quadratic polynomials and verify

: 1 : ;
the relationship between the zeroes and their coefficients. | 32. Verify that 2 3 are zeroes of cubic polynomial

(Q 18 t0 22)
18.

px)=x*-Tx + 12 19. p(x) = 4x% + 24x + 36

2 — 1722 + 38x - 15.
33. On dividing x> + x> + x — 2 by a polynomial g(x), the

20. p(x) = 100x2 — 81 21 p(x) = 25x2 + 5x quotient and remainder were x> + 2x + 1 and 2x - 1
22. p(y) = 43y* +5y-23 respectively. Find g(x).

23. Find a quadratic polynomial whose zeroes are 3 and —5. | 34. Using division show that 3y* + 5 is a factor of

a ” y L 1 6° + 15y* + 16)° + 42 + 10y — 35.

24. Find a quadratic polynomial whose zeroes are —9 and - | 35. Divide 2453 + 20652 — 4xy by 2xy.

. Sum and product of zeroes of quadratic polynomial are

. Sum and product of zeroes of a quadratic polynomial are

. Find a quadratic polynomial whose one zero is 7 and sum

5 and 17 respectively. Find the polynomial.

0 and 15 respectively. Find the quadratic polynomial. !

. Find a quadratic polynomial whose one zero is 5 and |

product of zeroes is 30. !

of zeroes is —18.

36. Divide 10x* + 17x% — 62x2 + 30x — 3 by 222 + Tx —1.
37. Divide ax? + (b + ac) x + be by x + c.
38. Divide 64y° — 1000 by 8y — 20.

39. Divide 155 — 167 + 92 — %y by 3p=2.

40. Using division state whether 2y — 5 is a factor of
4% — 10)° — 10y% + 30y — 15 ?
41. Form a quadratic polynomial, one of whose zero is

29. Find a quadratic polynomial whose zeroes are 3 + b5 3 ¥ JB el A G Of Seeeis
and 3 - 5.
" e ! :
30. Find a quadratic polynomial whose one zero is — 8 and 42. Form a quadratic polynomial, one of whose zero is /5
sum of zeroes is (. and the product of the zeroes is -2 ‘\/5 -
31. Find a quadratic polynomial whose one zero is —5 and | 43. Determine is 3 a zero of the polynomial

product of zeroes is 0.

) = \/xz—4x+3 + \/xz -9 - J4x2 -14x+6
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1. Apassenger train takes 2 hours less for a journey of 300 km

=
:

n

6.

i3

14.

5.

16.

18.

if its speed is increased by 5 km/hour from its usual speed.
Find the usual speed of the train.  [Delhi 2005 C, 2006]

A speed of a boat in still water is 11 kin/hour. It can go 12
km upstream and return downstream to the original point |
in 2 hours 45 minutes. Find the speed of the stream.

[AT 2006]
A fast train takes 3 hours less than a slow train for a journey

of 600 km. If the speed of the slow train is 10 km/hr less than |
that of the fast train, find the speeds of the two trains.
[Foreign 2006]

Seven years ago Varun’s age was five times the square of |
Swati’s age. Three years hence Swati’s age will be two-fifth |
of Varun’s age. Find their present ages.  [Delhi 2006 | |
A 2-digit number is such that product of its digits is |
18. When 63 is subtracted from the number, the digits |
interchange their places. Find the number.

Or _
A train covers a distance of 90 km at a uniform speed. |
Had the speed been 15 km/hour more, it would have taken |
30 minutes less for the journey. Find the original speed of | |

the train. [AT 2006C] |
The difference of two numbers is 5 and the difference of

their reciprocals is % Find the numbers.

0.

By increasing the list price of a book by ¥ 10 a person can
buy 10 less books for T 1,200. Find the original list price
of the book. [Delhi 2007]
The numerator of a fraction is one less than its denominator.
If three is added to each of the numerator and denominator,

the fraction is increased by % Find the fraction.
Or

The difference of squares of two natural numbers is 45.
The square of the smaller number is four times the larger

number. Find the numbers. [AT 2007]
. Find the roots of the following equation.
L oad U ey [Delhi 2608]
x+4 x-7 30
Find the roots of the following quadratic equation :
2/32-5x+/3=0 {Delhi 2011]

Solve the following quadratic equation for x :
—dax—b*+4a*=0
Or
If the sum of two natural numbers is 8 and their product is
15, find the numbers. [Al 2012]

. For what value ofk, are the roots of the quadratic equation

(k—-4) 2+ (k-4 x+4=0equal ? [Foreign 2013]

12. ¥ 9,000 were divided equally among a certain number of

persons. Had there been 20 more persons, each would have |
got ¥ 160 less. Find the original no. of persons.

. Atwo digit number is 4 times the sum of its digits and twice |

the product of its digits. Find the number. |
If the price of a book is reduced by ¥ 5, a person can buy
5 more books for ¥ 300. Find the original list price of the |
book. '
300 apples are distributed equally among a certain number of |
students. Had there been 10 more students, each would have
received one apple less. Find the number of students.

An aeroplane takes one hour less for a journey of 1200 km if |
its speed is increased by 100 km/hour from its usual speed. |
Find its usual speed. |
. A two-digit number is four times the sum of its digits and ‘

is also equal to twice the product of its digits. Find the |
number.

A two-digit number is seven times the sum of its digits and
is also equal to 12 less than three times the product of its
digits. Find the number.

21.

(o ]
th

. A two-digit number is 5 times the sum of its digits and is

also equal to 5 more than twice the product of its digits.
Find the number.

. A two digit number is such that the product of its digits is

15. If 18 is added to the number, the digits interchange their
places. Find the number.
The sum of the squares of two natural numbers is 34. if the
first number is one less than twice the second number, find
the numbers.
Solve forx :
x+1  x-2
+
x-1 x+2
Aeroplane left 30 minutes later than its scheduled time
and in order to reach distination 1500 km away in time, it
has to increase its speed by 250 km/h from its usual speed.
Determitie its usual speed.

=3:(x#1,-2)

. Divide 29 into two parts so that the sum of the squares of

the parts is 425.

The sum of the squares of two consecutive natural numbers
is 313. Find the numbers.
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